Ol &8 AF & & Al A

Al
t

FSIH MOS S A

Ol

2022

[ & 5 S S 18 |8 3 8 |18
. - N~ [aV] Al <t v |~ [aV] [ep K ep]
ol I s = = < d |4
oy, _A_uﬁ_v
= =
=
3 3 3 IR S UE
= = = S & B S S |
H3M | & < \
ikl
RIS
29ogs 823 R2RIRR 8 8 ¢ 8 888833888 2 8 8 88 glglags
g828s S8 82RIEE 8 8 § 8 B8888888 8 8 & 88 888 &8
~dehgglgEgd |8l © <9 o . © o6 o -
N~ w0 | W0 "R NTe} Yo}
= — —
Ed
S
wH=| x| W=
“ ¥ § ¥ @ TI®E e ® § ¥ 8 0@ g
x * * x x x *H 4.”* H * ” * M_’Mu x
Oir B g 2 8 ¥ BBy wE z ¥ o B = EL
— o O\I/O o O O AN O [aV] [e] L._| _M_OO
X0 . S * S =5 S Sg R - B S *
&l 5.8 wxg8Pe 2285 8 4 8 @ wg o
0 EnS 8MHS - s« 8 o S
31 S8 me S RY W g ,8a & S - S
i ol — ~ S of - 05,31 S g9 o
=3 S ok o 2 & ol S = &
It > o Lo T~ T © It
= wow oL = w oW W - T
. - noH ¥ TR s < - A
~ R0 Do ¥ ow w W 2 ozw T W
= E I ==V _ T = Al Rl X ~
Gl o) oW 8 = 3 =Z3EPwafa N L
Wl o mowm 2 om om FialamPo ow ow P
AU B % = |= w3 i — g mMzRd B OB W 5
=| o X Ao - & fF RO Ul Fn DR R R R
<] . 0 = 8 |m kM K om W X awT WA ~ o 3o 80
5| & H0 7 @M ® o ® W W FWH A~ WK ®K oW oW w0
| & : F |EpEz B3 333778788838 88
D = et
N D U3 g0 | o <
Ul e o RO s |5 N
SHHE [ b | X R0 0 W |
1ol 30 3 i ol
. o o ol
F =] o)
oJ =




ot
i’
oF
uJ

o o o o o (@)
ER 2§ 8 ST R g g 188
L.D [aV] [aV] o ™ ™ A 4R|u — —
n
Ko
E
o
e e 8 |8 |8 818 I8 8 8 18 Y8
- = L E e et S S S NN N
SRR SIS o o |o g |8 |
H3
uxfed
RIS
Sd&S838d SIRRKRRIBIBIEBILEBSIFIZE 8 8 8§88 S8 333|888 & 8 &
El
<
S
D T - R ) i} U ol ol Jdg @ < 8 i I @ W
Y A o — N L - 4 ar = — - =} [
* * x x x * 4O|u n.“u * — X x Al w x * x *x
o S od * g & W s = ] 0d Yo - =
o= —- o ¥ = g X — i =) Kg & @
X0 [+« = R =] S} -, x 9% N mmJI i S} ol = - N
A ~N N =y - =) X — =0 — - S 1S 3l o«
_m”_ % N oo g R Sow B S a® o — % S Lo A ®
S S x x <= N &+ o = Sw s K0 o) n ~ (Ho 0H =
ol = < oo N H 8 & =< N S S 1) of o ifS =S s
= 188 S sSauo S o R Wx I3 53 =8 = WS Tg
I | 4 88 kK™ G UWR o ok = 48 WK
—_— .Ao - - _u_o _.:._ o_.._ H_EO - Q EH_ E__.
= =8 8 < of Irs @ s~ w3 gl i)
. = = T o ol - 0 Wwe o T NS ol ou o
= * o t+ ¢ K F 7 3 H <l = NS ol & Hl
= - = A A - = = — - — ol = =
o] <F Ho D o0 M ~ ~ N ~ ~ D~ oF ~ ~
- oF - ur <I o 0 m 0o M ur o |80 m
oF - e N R o oo M1 W owm | |wE o () | &R @
Y| s oD |k 3l oo m<-ok|& 5|z 8 s s TH &€ (DWW |TjTH B W
- [Fm ok e S fur o gy |30 MW HomF = (O |80 | Ko Ko Ko B0 Ko [UF (O OKD [ B0 @ B &) @l
=z [oF Row @ ok |w |k A|MH|T|IER WS KB|5 B @ @ w0 e |# ok e gy || K o) 3l
o L I L < < e B = Y A =V I {1 < e O - VI 1 s 1 QR 1
. O O R K Ofo |0 | O ol < O O O [ O RIR Olg |t < O O O
g 8 |5 His [ N5 5 S 8 |5 o5 B
IF [ x|_o N ol |
ol = ok




SA: MOIS=Z A
HM: OIUHN(UBDTHE/YLAT)
SR DI AHIAK2 (&2 AR
o - - = bSlEl=
2A -3 A2(ZH) - MIRAR - BES 04| Ao 0“1“;0” Hns2
ORQIoIeta)| SOIAHIAAE £42
130,00094 * 1JHA » 122 1,560
02 2229 24,780 24,552 228
ORelnIAez7| 2222 2 HMAl
50,0008 * 10HA » 128 600
OR01pIAL2E2)| K| 22|
18,000,000 = 13CH * 10/100 23,400
OXIZIE2IHD| RASS
5,0002 1304 = 1204 780
405 KHAHE S H) 50,000 0 50,000
01 L SEF SH| 50,000 0 50,000
OReloiggz)| 2 25,000,000 * 2CH 50,000
GEE = 1,430 1,430 0
201 LBt YH| 1,430 1,430 0
01 At22t2IH 1,430 1,430 0
OUALLE BHl SFAEH(AMH S)
300,000 = 3CH = 13| * 50/100 450
Oz 23 A [0l
1002 * 3Z  1,0000H 300
ONZELZ 2 AIREE 22
20,0002 » 2= * 123 480
OAIEE QEEE ¢ 40020 * 50004 200
(Z)HEAIR CHEAY X 13,415 13,742 A327
= 13,415
101 Q124H] 13,415 13,742 N327
= 13,415
04 JIIHHI22XEE 2 13,415 13,742 N327
O0RLZ MARY EX 012l
13,415,000 * 19 13,415
= 13,415
(2)IEBHEEAR MR ZH| A 15,310 15,065 245
= 15,310
201 LBt=2YH| 15,310 7,065 8,245
= 15,310
01 AtR2t2IH 15,310 7,065 8,245
OAtR2t2IH| 15,310
—D2E £ P2 200,000 * 1104 * 43] 8,800
= 8,800
—=2SM2X 2L 16,0002 * 228tA » 128 4,224
= 4,224
—ARE2E 22 2,286,000 * 14! 2,286
= 2,286
DIRIASIEANIH 29 321,225 268,448 52,777
201 LBt YH| 35,017 36,314 A1,297




2A: MOISSAH
D QRSN (UBDIHE/UBHE)
Crol: DIRSEAHIANS (Crol: &)
S - HZH . CI-_?_|(§D1|) - HIEAIY - A= Of| AFOH HEE Hm=2
- o=t d - o/ o= 0:"&.0_‘” US55
01 At22teld| 3,300 3,700 2400
O=4HIE BIE=2Id| 1,500
-S| 2l ¥ EH WA
300,000& = 32l 900
—J|E+ Edl==el 50,000& * 12& 600
O3JI18&8)| Xtz 50,000& = 1CH » 123 600
O24IEH RFHIAAE =5
100,000& * 128 1,200
02 3523l 31,717 32,614 A\897
O24dH &JI23 500,000& * 12& 6,000
O2HH S22 300,000& * 12& 3,600
O24e ZXAEIA AIEZ
10& = 6,000 = 12& 720
OS24 CIgHY A= 40,0003 + 123 480
OZ24H 2= |AXl2cldl
2,000,000 * 1A 2,000
OSHIE ME2UIAIAEY SIS 18,917
—ATEYN RAES
142,500,000& * 12/100 17,100
—OI=ERIH R 15,140,000& * 12/100 1,817
207 AT 45,000 0 45,000
02 &ADNEH| 45,000 0 45,000
OS4H A2 AIAE DTS
45,000,000& * 14 45,000
307 Q1201 ™ 241,208 232,134 9,074
05 DIZtRIErZ 241,208 232,134 9,074
OZ24dH 22 Qi 241,208
—&tEFAL 2124H| 17,139,380& « 12& 205,673
— AIAE Xt 1,210,000& * 12& 14,520
—3& EH| 1,751,200& = 12& 21,015
MNOIS28 24dsH(LS3E/LeElE) 650,860 571,550 79,310
T 33,300
Al 617,560
=02SHA |4 650,860 571,550 79,310
= 33,300
Al 617,560
=02t 2E XA 12,000 21,000 29,000
201 23| 12,000 18,000 26,000
01 Ar22t2ldl 12,000 12,000 0
O=&J| ¥ Jt2I| WH(MOIES e 5)
4,000& * 50004 2,000
OJt=22(Z0It &I 15,0002 * 2009HA 3,000
O=012s 222 N& 1,400




2A: MOS8 At
M MOIS2S S43H YIS I T/ UPEIA)
cigl: FpSsCH |4 (Sl &e1)
S - B ERI(SH) - MISAY - BAS Of ko cla SimE==]
—8==9 60,000& * 5& = 23| 600
—E2=2 1,000& * 4 = 20004 800
OpIzrol TETH MZ 80,0002 * 704 5,600
=02 WSKA 31,230 53,220 A21,990
301 LEBES 31,230 53,220 221,990
09 HALAHIXIRE S 31,230 53,220 221,990
OMUOIZXN SRS ZAXE 048]
90,000& * 27 = 23| 4,860
OMOIS XIS AHE H==04t]
90,0002 » 6% » 10 * 23| 10,800
O=22sHH MOILE 2 wsE4A od]
90,000& » 7& * 23] 1,260
OZDI2351st0tE &4 odd|
90,000& * 9% * 13 810
Otz 2sedst S2Usl It Kl
90,000& * 309 » 1 2,700
Ott2AHaD |12 sM4E ARgl It o
90,000& * 30E = 13l 2,700
Ott2Aaizs d=304dlsl &4 ol
90,000 * 309 * 1 2,700
Ott2AaII2s FE4=SEHLEUS FIF Kbl
90,000& * 30Y¥ » 1« 2,700
OttEAHaI2s FEs &4 ol
90,000& * 30Y¥ » 1« 2,700
=02l AFE XA 326,300 238,000 88,300
307 QI2to| & 326,300 238,000 88,300
02 RIZHE&AHE X 160,300 105,000 55,300
ORolet ol 24! XA (SEE 90%)
5,000,000& * 14! 5,000
OMOISZSSAI ghes X
4,000,000& * 14! 4,000
OMOIZ oAEY I X2(EXE 90%)
6,000,000& * 14! 6,000
OLETAH WEAIE XIAAMNS(BEEE 90%)
2,000,000& * 14 2,000
OGreen City =& AIH
3,500,000& * 304 CHAl 10,500
OMGOIE &H0}HI0I XI& A
8,000,000& * 14! 8,000
OArel & NI XZAM(EZS 90%)
5,000,000& * 14! 5,000
OAIZel 24& &It=I| XA (22X 80%)
10,000,000& * 14! 10,000
Osts MilEHH &Z38ses S X
(BEE 90%) 63,000,000& * 1A 63,000




2AM: MOISS A
o MOISSS SASHULBIHY/ )
©el: 2W2SHH S4 (242 &)
(=] X XH . Cl2l( S (=] I =2 OH @L‘j—":— =2}
OMDtSnESAH 2ZXI
3,000,000& » 14l 3,000
OHi2HalI2s FRUS 2T N (2ES 80%)
7,500,000& = 14! » 80/100 6,000
OttEJ stu=8dcede XA
2,000,000& = 14! 2,000
Ott2J 0idal SAHES XA
3,500,000& » 14 3,500
OHIEAADIES I EUHEZ S XNJ(ExE
90%) 32,300,000 * 14! 32,300
03 QIHHHEE2IHIEE 166,000 133,000 33,000
OZ=AlIMOtSE 2GHI(EXE )
130,000,000& = 14! 130,000
OHIEHAD |I2STE A2 2GH(BExE )
36,000,000& * 14! 36,000
=0I2SCH SALKIA 25,000 23,000 2,000
307 S12+0& 25,000 23,000 2,000
04 BIZFHAAHE S 25,000 23,000 2,000
OMDtS H2EIIH=l K&
3,000,000& 14 3,000
OMBOIZSXIE X =8iis] XA (X2 80%)
15,000,000& * 14 = 80/100 12,000
OHt2HAIIES =3 XJA(EXS 80%)
12,500,000& = 14! » 80/100 10,000
(£)21C Mit22s 43t 89,680 69,680 20,000
< 28,300
Al 61,380
301 LEtBEF 7,000 7,000 0
= 3,500
Al 3,500
02 Zet=2etk= 7,000 7,000 0
OMOESXIE S &sts K&
1,000,000& 7Y 7,000
= 3,500
Al 3,500
307 SI2+0l& 82,680 62,680 20,000
o= 24,800
Al 57,880
02 BIZHEAAEE X 51,680 31,680 20,000
Od=st E2aXiel SSI1 A
24,000,000 * 14! 24,000
= 7,200
Al 16,800
OCYHE2 SN2 AIS 7,680,000 * 14l 7,680
L= 2,300
Al 5,380
OMDtS 3 &2D| Al 20,000,000 * 14! 20,000
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A MOISEAD
Hal: NRZAME 2 (LBIDIYT/LBIHE)
o9l RASAIE Y (Sr9): @)
- _ _ HEAS
A - B SRA(Z) - MRAY - BES Ol &kt 01l AkoH HnS2
ONAEN 5B ot 998 &4 ol
90,000 * 5H » 2 * 23] 1,800
ORASA BHSE 218 Br2rs] &4 Ot
90,000& » 10¥  1& » 23 1,800
307 g12+ol& 12,800 13,000 A200
02 RIZHE&AEE X 12,800 13,000 A200
ORASA DILRINNIE X2
1,900,000& 14 1,900
ONASAl H2ZAIL SARS N
5,000,000& » 14 5,000
ORAZAHE AAT| 22 S X
1,900,000& * 14 1,900
ORAZAL 01HEI01 KA
4,000,000& = 14! 4,000
KRS AR 2] 10,000 10,000 0
307 QI2tol & 10,000 10,000 0
04 DIZFHAIAIEE X 10,000 10,000 0
OYFAl ASAR CH3] I
10,000,000& = 13l 10,000
(2)E= S& NASAEE Ot AHIA T~ 5,914 7,148 A1,234
2 2,957
= 887
Al 2,070
307 S12+0|& 5,914 7,148 A1,234
= 2,957
= 887
Al 2,070
02 QIHHAAMHES 5,914 7,148 A1,234
ORAZAHIE! TEZAR 2HE X2
5,914,000& = 14! 5,914
= 2,957
= 887
Al 2,070
(=)X2SAF 2OUI0IH XIg-24 61,960 59,184 2,776
= 30,980
& 9,294
Al 21,686
307 QI2tol & 61,960 59,184 2,776
= 30,980
= 9,294
Al 21,686
05 RIZIREIZ 61,960 59,184 2,776
ORALAIE! 2OII0IE T
61,960,000& » 14l 61,960
= 30,980
= 9,294
Al 21,686




2A: MOS8 At
M TRASAHIH 23 (LIS I/ UPEIE)
&2l UHSAHIEH2Y (el &)
S - B ERI(SH) - MISAY - BAS Of ko cla SimE==]
. (=2 - S/ == 0:"&.0_‘” WsSa
(D)X SAME 2 315,000 315,000 0
< 18,000
Al 297,000
307 QI2t0I & 315,000 315,000 0
= 18,000
Al 297,000
02 BIMAAAHE S 10,000 10,000 0
OYLEE AHRASAIZZ20E 29 XA
10,000,000& = 14! 10,000
& 3,000
Al 7,000
05 BI”IRIEZ 305,000 305,000 0
ONASAHIYE 28 X~
305,000,000& * 14! 305,000
== 15,000
Al 290,000
AAstd 2e|(&Hd/XHH) 31,664 43,810 212,146
oisd 2H 31,664 43,810 A12,146
NHES EsKIR 23,400 27,350 A3,950
201 LEt2 | 17,100 17,180 A80
01 AtR2elt] 900 900 0
OXeIEs U BATA =2 222 M 90
—E8Nt 1002 » 28 » 1,5000H 300
—8==2 A& 60,000& » 2& * 53] 600
02 3223 16,200 16,280 A80
OXcg Sl 22| 224
12,160,000& * 1A 12,160
OXggSAlsEA St 40,0002 * 36= 1,440
OXtgSalstEa & 1,300,000& * 2= 2,600
301 LEIBES 6,300 10,170 23,870
09 HALAHIXIAZ 6,300 10,170 23,870
OXHES SU3 &It 0ddl
90,0002 * 30Y * 1 * 13 2,700
OXHES M=M=l FIt 64
90,0003 * 30 » 1 * 13| 2,700
ON=INHES HOILE Y MEHEERE 2IF (|
90,000& * 10Z = 13l 900
ZEZZE 23 8,264 16,460 A8,196
101 21244| 3,664 11,860 A8,196
04 JIZtHIZ2 2R SE= 3,664 11,860 A8,196
OHlHIY % Hisorg 43 olRy
73,2803 » 5% * 5 * 23| 3,664
206 M= 4| 1,200 0 1,200




A MOFSSAH
DO NHEE el (B XHe)
SEEREES chel: J2)
S - R - SRIEH) - ARAY - BAS sro el 2
01 M= 1,200 0 1,200
O=EldZ 85 7Y
2,000& » 35 = 200H 1,200
303 L= 3,400 3,400 0
01 Z&= 3,400 3,400 0
OSHsS =EUHEZ=2S AMe3 3,400
—i|R= 500,000& * 2JHA 1,000
- 300,000& * 47HA 1,200
—&e 200,000 * 6IHA 1,200
Y2 ZHI(MOISS A (O1EHDIEH 79,054 71,978 7,076
=3l 79,054 71,978 7,076
Jl=&tl 79,054 71,978 7,076
201 k=2 19,414 18,638 776
01 At=2teld 19,414 18,638 776
OSAZAl 7Y 16,0008 » 148t « 123 2,688
OS2 A 7,0003 » 641 = 148 » 122 7,056
Ogttez 100,000& = 12 1,200
Oxml S 50,0008 = 123 600
O47E =4t 7,030
—= AP = 1,000,000&  1CH 1,000
—ZglH 2l 100,000& * 3CH * 50/100 150
—=SADI EY 200,000 = 53| = 1CH 1,000
—Iglef EU(E%)  200,0008 * 53]  3CH 3,000
—Iglel EW(Z3)  200,0008 * 53] = 1CH 1,000
—PC ==cl 100,000& = 14CH = 20/100 280
—JIEt Z=clbl 50,0008 = 123 600
OJIEH AtR2t|d] 5,000& 1498 » 12& 840
202 04l 55,440 49,140 6,300
01 =LHAOLI 55,440 49,140 6,300
O2ALHALI 20,0003 = 149 » 122 = 128 40,320
O22 4| 90,0003 » 148 = 12& 15,120
203 F2=2&l| 3,000 3,000 0
04 ENE2ZH 2= 3,000 3,000 0
ORNE2IH R 250,000& = 12 3,000
204 2R HH| 1,200 1,200 0
01 A SR+ 1,200 1,200 0
OXMS PRI (MOISSAILE)
100,000& » 1& » 128 1,200






